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CERTIFICATE IN WATER HARVESTING 
AND MANAGEMENT (CWHM) 

Term-End Examination 
December, 2011 

ONR-002 : BASICS OF HYDROLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : (i) Attempt any five questions. 
(ii) All questions carry equal marks. 
(iii) Use of Calculator is permitted. 

1. 	(a) Fill in the gaps : 	 5x1=5 
(i) Ocean contains 	% of 

earth's surface. 

(ii) Hydrology is the science dealing with 
various 	 of hydrologic 
cycle. 

(iii) Accumulated 	 is the total 
depth of water infiltrated in a soil in a 
given time. 

(iv) Infiltration  	as the soil 
moisture increases. 

(v) 	 is the process by which 
water vapours are released to the 
atmosphere through stomatal 
openings of plant leaves. 

ONR-002 
	

1 	 P.T.O. 



(b) Explain the entire process of hydrologic 	5 
cycle with the help of a neat diagram. 

2. (a) Explain the procedure for calculating of 	4 
return period. 

(b) What are the conditions for runoff to occur 3+3 
in response to rainfall events ? What are 
the factors affecting rate and volume of 
runoff ? 

3. (a) What are the important features of 	5 
household water treatment plant ? 

(b) Define electrical conductivity. List different 	5 
physical characteristics of water. 

4. (a) What is the importance of hydrological 
	

5 
losses in a watershed ? 

(b) Define reference crop evapotranspiration. 2+3 
How can it be estimated ? 

5. (a) Explain the phenomenon of thunderstorm. 	3 

(b) How is rainfall intensity related to rainfall 
	

3 
duration and area ? 

(c) Compute the average velocity of flow in a 	4 
channel if float takes 50 second to cover 
40 m distance. 
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6. 	(a) Explain runoff phenomenon. 	 2 

(b) Describe the mechanism of cloud formation. 	3 

(c) Estimate the average rainfall in an area 	5 
using the following data 

Station 1 2 3 4 5 
Rainfall, (mm) 525 340 460 329 470 

Area of Polygon, km2  35 100 93 47 63 

7. (a) Define the time of concentration. How will 2+3 
you estimate it using velocity of flow and 
distance in a watershed ? 

(b) What are different industrial and 	5 
agricultural wastes ? 

8. (a) Write a water budget equation of a 	7 
catchment and define its various terms. 

(b) Compute the runoff coefficient if 10 cm 	3 
rainfall results in 4 cm runoff. 
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1 2 3 4 5 11 
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35 100 93 47 63 Vep tEt tO, tot 	. 
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